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ER4 No 1 2 3 VvV | G
BHER 1 23 | 16 0 3
EJISKR 2 | vas 34 1 2
HLUER 3 | vas | v42 2 1
¥RA Zhil B | BARAOR | BARACR] A% L PRA
3 &/ K 5 5 2 2 AKX 6
1 T 9 4 8 10 ERF 5
2 t2H 14 5 0 10 4
i #:I:HE 20 6 3 13 AX 6
3 EJI %/ K 25 5 0 13 =50 4
2 1B H 30 5 6 19 ERF 5
1 T B 35 5 0 19 4
2 t2H 39 4 3 22 AX 6
3 /K 45 6 1 23 EnFF 5
FE4 28 8 | BARAF | BARAUR] S8 28 TR
3 EnF 3 3 5 5 TP 6
1 3 0 5 10 iz 5
2 AKX 5 2 5 15 [ 4
1 5 0 5 20 T 6
3 =5 B9 10 5 5 25 ] Al 4
2 AX 10 0 5 30 1% 5
1 10 0 5 35 ] 4
2 AR 12 2 5 40 T 6
3 EnFF 16 4 5 45 % 5
¥RA Zhil B | BARATR | BARAUR] A% L PRA
3 %/ K 4 4 5 5 ] 6
1 THE 6 2 5 10 715 5
2 taH 8 2 2 12 T ] 4
1 THE 9 1 4 16 T 6
3 EJI %/ K 16 7 3 19 [ Al 4
2 taH 20 4 3 22 715 5
1 T B 22 2 9 31 [ 4
2 taH 24 2 3 34 T 6
3 %/ K 34 10 8 42 % 5
BFIn
R4 No 1 2 V| Bz
ALLUEK 1 v 1 1
ES 2 2 0 2
B4 K4 No [ 1 | 2 [ 38 [C )| 4 5 6 [ )] V TD TR TD/TR
F[if] 1 \ \% 3 2 13 10
Fr i 2 v 1 1 6 6
Bl ISR 3 Vo v v 2 | 10 4
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[ & 4 2 1 2 5 15
- LBH 5 3 v 1 8 6
EN s |V 7 2 T 8
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R4 No 1 2 V| Bz
E)IESK 1 4 0 2
ALLEK 2 v 1 1
BA ;%3 No | 1 | 2 | 3 [C )| 4 5 6 [ D[ V TD TR TD/TR
B/ K XE 1 Vv Vv Vv 3 15 2 7.50
E (AW FX 2 4 3 2 v 1 10 13 0.77
n o \#HE BE 3 3 1 1 0 5 15 0.33
I fES 4 0 v Y 2 10 11 0.91
a [FTi _EX 5 2 v v V5 2 12 8 150
W [B505 EE 6 0 3 V 1 8 11 0.73
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FRA No 1 2 V| IEfZ
ALK 1 V45 1 1
EFISK 2 31 0 2
PHA 281 Al | BARAUF ] BARAUF] A8 Z TRE
3 Gk i 5 5 3 3 R H 6
1 N 9 4 7 10 EEpE 5
2 Fri 15 6 1 11 Al LI 4
1 N 20 5 2 13 AN H 6
3 A FaAT 25 5 0 13 Al L EJI 4
2 Fri 27 2 2 15 EApE] 5
1 N 35 8 5 20 Al LI 4
2 Fri 36 1 3 23 A H 6
3 AT 45 9 8 31 = 5
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FR% No | 1 A2 B :
EJIES 1 Vv 1 1
AlLER 2 0 0 2
w4 K4 No 1 2 3 [(C )] 4 5 6 Y[ Vv TD TR TD/TR
a4t 1 3 3 0 6 10
FiE 2 3 0 3 5
Al [SEN 3 1 2 0 3 5
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AN H 4 v | v2 2 7 4
[t 5 \% 1 5 3
3
£ AL 6 v V3 Vo 2 8 5
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